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Section : General English

In the following sentences four words or phrases have been underined. One of them is incorrect. Choose the
Q1 word or phrase from the gt ;
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Behaviour problems among school children are gn the increasing. It has therefore become mandatory for every school o
keep a school counsellor to counsel students going through stress,

Ans  of 1. on the increasing
X 2. to keep
X 3. become mandatory

X 4 going through stress

Q2 Choose the word that is correctly spelt: [ N ——

Ans  of 1. correspondence




X 2. accidetaly

& 3. architechture
X 4. bankwet

Q.3
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Fill in the blank with the appropriate word(s):

The participants gave beautiful performance that it was difficult to decide whose performance was the best.

X 1. s0

X 2 such
X 3. too

v 4 sucha
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Q4

Choose the passive voice form of the given sentence.

My employers treated me with great respect as I was hard working and efficient.

X

My employers were treating me well as I was hard working and efficient.

v

1 was treated with great respect by mv employers as I was hard working and efficient.

X 3

My employers said they treated me with great respect as I was hard working and efficient.

X a

I was being treated with great respect by my employers as I was hard working and efficient..

Q5

Choose the correct synonym of:

apology

X 1. kindness
X 2. answer
« 3. regret
X 4 genial,
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Q.6

Fill in the biattk with the correet word:

mMmmget whs busy i an urgent meeting with ___ M.P. from Odisha who wanted to discuss a new project in his
v 1. an
X 2. any
X3 a

X 4. someone

[

Question ID : 1679435158
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Choose the most appropriate indirect speech for the following sentence:

Savita said to her son, “Be careful not to use your mobile while you are driving. Tt can be very dangerous™.

X 1

Her son was advised by Savita to be careful not to use his mobile while he was driving as it could be very dangerous.

X 2

Savita was advising her son to be careful not to use his mobile while he was driving as it could be very dangerous.

X 3

Savita has advised her son to be careful not to use his mobile while he is driving as it can be very dangerous.

v

Savita advised her son to be careful not to use his mobile while he was driving as it could be very dangerous.

Question ID : 1679435164




| | @8 Choose the sentence that is correctly punctuated:

Ans 5 1

The airhostess said to Ratua please switch off your mobile immediately. We are about to take off.

v

The airhostess said to Ratna, “Please switch off your mobile immediately, We are about to take off.”

X 3

The airhostess said to Ratna “Please switch off your mobile imumediately. We are about to take off.”

X 4

The airhostess said to Ratna “please switch off your mobile immediately we are about to take off.”

Question ID ;1679435166

Q.9 Choose the best option to combine the given sentences:

It rained heavily yesterday. The weather is still very hot and unpleasant.

Ans X1

Since it rained heavily vesterday the weather is very hot and unpleasant.

X 2

It rained heavily yesterday even though the weather is hot and pleasant.

v

Although it rained heavily yesterday, the weather is very hot and unpleasant.

X a

In case it rained heavily yesterday the weather is very hot and unpleasant.
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°.1 0 Inthe following sentence four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

important.

Ans 2 1. on the telephone

« 2 clear and concise
X 3. to express yourself

X 4. quality of

When vou talk on the telephone, the guality of your voice and your ability 1o express vourself clear and concise are very

Question ID : 1679435161
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Q.11 Fill in the blank with the appropriate words:

The oratorical skills.shngﬂsplayed inher  impressed the audience.
Ans o 1 maiden speech
X 2. left handed compliment
X 3. leap in the dark

X 4. crocodile’s tears

Question ID : 1679435169

Q.12 Choose the correct antonym of the underlined word to fill in the blank.

We expected to buy the plot at a good discount but it umed out to be availableata _ as it'was a comer plot.
Ans x1_ gf()“’fh

& 2. deficit

« 3 premium

X 4. surplus

Question ID : 1679435157

Q.13

Question ID : 1679435156




Choose the correct antonym of:

spiritual

Ans X 1. temporary
X 2. heavenly
& 3 human
v 4 material

Q.14 Filli i i :
Fill in the blank with the appropriate word Question ID : 1679435159

We  to cancel the meeting as it is raining hard for the last 3 hours.
X 1. going
v 2. have
X 3. has
X 4. having

Ans

Q.‘] 5 Fill in the blank with the appropriate words:

The inmy life came when I earned a scholarship for higher education and worked very havd 10 get a degree in Question ID : 1679435168

fysireeness
Ans o 1. turning point , @
X 2. makeover
X 3. pull through
X 4. bed of roses

Comprehension:




On the basis of your reading of the following passage answer the
questions given:

The education that has prevailed in the past is insufficient. incomplete
and superficial. It only creates people who can earn their livelihood but it
does not give any insight into living itself. It is not only incomplete, it is
harmful too — because it is based on competition. Any type of
competition is violent deep down and creates people who are unloving.
Their whole effort is to be achievers — of name. fame and all kinds of
ambitions. That destroys their joys: that destroys their friendliness.
Education up to now has been goal-oriented: learning is not important;
what is important is the examination that will come a year later. It makes
the future more important than the present.

There should not be any kind of examination as part of education, but
every-day. every-hour observation by the teachers. Nobody fails. nobody
passes. So, examinations will not have any place. That will change the
whole perspective from the future to the present.

I divide education into five dimensions. The first is informative, like
history, geography. etc. which can be dealt with by television and
computer together. The second part should be sciences. They can be
imparted by television and computer too.

And the third will be what is missing in present-day education. the art of
living. People have taken it for granted that they know what love is. They
don’t know. . . and by the time they know, it is too late. Every child
should be helped to transform his anger. hatred and jealousy into love.
The fourth dimension should be of art and creativity: painting, music,
craftsmanship, pottery — anything that is creative. And the fifth
dimension should be the art of dying. In this fifth dimension will be all
the meditations. so that you can know there is no death. so that you can
become aware of an eternal life inside you.

SubQuestion No: 16

°é1 The impact of too much competition is that Question ID : 1679435172
students learn to be:

Ans X 1. creative
X 2. friendly
X 3. joyful
v 4 violent

Comprehension:




On the basis of your reading of the following passage answer the
questions given:

The education that has prevailed in the past is insufficient. incomplete
and superficial. It only creates people who can earn their livelihood but it
does not give any insight into living itself. It is not only incomplete, it is
harmful too — because it is based on competition. Any type of
competition is violent deep down and creates people who are unloving.
Their whole effort is to be achievers — of name. fame and all kinds of
ambitions. That destroys their joys: that destroys their friendliness.
Education up to now has been goal-oriented: learning is not important;
what is important is the examination that will come a year later. It makes
the future more important than the present.

There should not be any kind of examination as part of education, but
every-day. every-hour observation by the teachers. Nobody fails. nobody
passes. So, examinations will not have any place. That will change the
whole perspective from the future to the present.

I divide education into five dimensions. The first is informative, like
history, geography. etc. which can be dealt with by television and
computer together. The second part should be sciences. They can be
imparted by television and computer too.

And the third will be what is missing in present-day education. the art of
living. People have taken it for granted that they know what love is. They
don’t know. . . and by the time they know, it is too late. Every child
should be helped to transform his anger. hatred and jealousy into love.
The fourth dimension should be of art and creativity: painting, music,
craftsmanship, pottery — anything that is creative. And the fifth
dimension should be the art of dying. In this fifth dimension will be all
the meditations. so that you can know there is no death. so that you can
become aware of an eternal life inside you.

SubQuestion No: 17

°7'1 *And the fifth dumension should be the art of Question ID : 1679435174

dying.’ This implies that students should be taught

Ans X 1. how to do meditation and die
/< 2. about the suffering caused by death

« 2 about life being everlasting

X 4 how to live a long life

Comprehension:




On the basis of your reading of the following passage answer the
questions given:

The education that has prevailed in the past is insufficient. incomplete
and superficial. It only creates people who can earn their livelihood but it
does not give any insight into living itself. It is not only incomplete, it is
harmful too — because it is based on competition. Any type of
competition is violent deep down and creates people who are unloving.
Their whole effort is to be achievers — of name. fame and all kinds of
ambitions. That destroys their joys: that destroys their friendliness.
Education up to now has been goal-oriented: learning is not important;
what is important is the examination that will come a year later. It makes
the future more important than the present.

There should not be any kind of examination as part of education, but
every-day. every-hour observation by the teachers. Nobody fails. nobody
passes. So, examinations will not have any place. That will change the
whole perspective from the future to the present.

I divide education into five dimensions. The first is informative, like
history, geography. etc. which can be dealt with by television and
computer together. The second part should be sciences. They can be
imparted by television and computer too.

And the third will be what is missing in present-day education. the art of
living. People have taken it for granted that they know what love is. They
don’t know. . . and by the time they know, it is too late. Every child
should be helped to transform his anger. hatred and jealousy into love.
The fourth dimension should be of art and creativity: painting, music,
craftsmanship, pottery — anything that is creative. And the fifth
dimension should be the art of dying. In this fifth dimension will be all
the meditations. so that you can know there is no death, so that you can
become aware of an eternal life inside you.

SubQuestion No: 18

°é1 “That will change the whole perspective from the Question ID : 1679435173
future to the present.” What does that refer to?

Ans 3 1. Thinking about the present
X 2. No one failing
v 3 Doing away with exams

< 4. Everyone passing

Comprehension:




On the basis of your reading of the following passage answer the
questions given:

The education that has prevailed in the past is insufficient. incomplete
and superficial. It only creates people who can earn their livelihood but it
does not give any insight into living itself. It is not only incomplete, it is
harmful too — because it is based on competition. Any type of
competition is violent deep down and creates people who are unloving.
Their whole effort is to be achievers — of name. fame and all kinds of
ambitions. That destroys their joys: that destroys their friendliness.
Education up to now has been goal-oriented: learning is not important;
what is important is the examination that will come a year later. It makes
the future more important than the present.

There should not be any kind of examination as part of education, but
every-day. every-hour observation by the teachers. Nobody fails. nobody
passes. So, examinations will not have any place. That will change the
whole perspective from the future to the present.

I divide education into five dimensions. The first is informative, like
history, geography. etc. which can be dealt with by television and
computer together. The second part should be sciences. They can be
imparted by television and computer too.

And the third will be what is missing in present-day education. the art of
living. People have taken it for granted that they know what love is. They
don’t know. . . and by the time they know, it is too late. Every child
should be helped to transform his anger. hatred and jealousy into love.
The fourth dimension should be of art and creativity: painting, music,
craftsmanship, pottery — anything that is creative. And the fifth
dimension should be the art of dying. In this fifth dimension will be all
the meditations. so that you can know there is no death. so that you can
become aware of an eternal life inside you.

SubQuestion No: 19

061 What is the problem with education today? Question ID : 1679435171

Ans X 1. People learn skills to earn their living.

Students compete to do better and

X2 achieve their goals.

X 3. It lays a lot of stress on learning.

« 2 It has surface value but is not complete.

Comprehension:




On the basis of your reading of the following passage answer the
questions given:

The education that has prevailed in the past is insufficient. incomplete
and superficial. It only creates people who can earn their livelihood but it
does not give any insight into living itself. It is not only incomplete, it is
harmful too — because it is based on competition. Any type of
competition is violent deep down and creates people who are unloving.
Their whole effort is to be achievers — of name. fame and all kinds of
ambitions. That destroys their joys: that destroys their friendliness.
Education up to now has been goal-oriented: learning is not important;
what is important is the examination that will come a year later. It makes
the future more important than the present.

There should not be any kind of examination as part of education, but
every-day. every-hour observation by the teachers. Nobody fails. nobody
passes. So, examinations will not have any place. That will change the
whole perspective from the future to the present.

I divide education into five dimensions. The first is informative, like
history, geography. etc. which can be dealt with by television and
computer together. The second part should be sciences. They can be
imparted by television and computer too.

And the third will be what is missing in present-day education. the art of
living. People have taken it for granted that they know what love is. They
don’t know. . . and by the time they know, it is too late. Every child
should be helped to transform his anger. hatred and jealousy into love.
The fourth dimension should be of art and creativity: painting, music,
craftsmanship, pottery — anything that is creative. And the fifth
dimension should be the art of dying. In this fifth dimension will be all
the meditations. so that you can know there is no death. so that you can
become aware of an eternal life inside you.

SubQuestion No : 20

062 ‘V‘hat meSSElgE' dOi’S the “’Titel' Convey th.l‘Ollgh th,iS Question ID : 1679435175
article?

Ans 1,
Education must give students a lot of information
and increase their well-being.

Students must have a sense of pride
in learning many things.

X 2

Students must learn to become
great scientists and historians.

X 4

Education must create true understanding

V4 flife and death,

n : General Hindi
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v o e A
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i@ ez # gt 98 71T Fea & Ieax el
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Q.3

Ans
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Harer W g O uar 7@ T 37 3% Wear-g@ 9w @ ar A
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X s

FIASIfET FEEETaTe e Siwe (Cooperative Hydrological Mountain Project)

X a

FrHET FEEEisEe AT S9F (Cooperative Hydrological Mapping Project)
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